
Adding Doubles Plus 1 (I)Use an adding doubles strategy to find each sumExample: 2 + 3 = 2 + 2 + 1 = 4 + 1 = 55 + 6 = 1 + 2 = 7 + 8 = 
9 + 10 = 2 + 3 = 1 + 2 = 
6 + 7 = 5 + 6 = 3 + 4 = 
2 + 3 = 8 + 9 = 9 + 10 = 
1 + 2 = 9 + 10 = 2 + 3 = 
0 + 1 = 0 + 1 = 5 + 6 = 
7 + 8 = 4 + 5 = 0 + 1 = 
3 + 4 = 7 + 8 = 4 + 5 = 
8 + 9 = 3 + 4 = 6 + 7 = 
4 + 5 = 6 + 7 = 8 + 9 = 
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Adding Doubles Plus 1 (I) AnswersUse an adding doubles strategy to find each sumExample: 2 + 3 = 2 + 2 + 1 = 4 + 1 = 55 + 6 = 1 + 2 = 7 + 8 =5 + 5 + 1 = 11 1 + 1 + 1 = 3 7 + 7 + 1 = 1510 + 1 = 11 2 + 1 = 3 14 + 1 = 159 + 10 = 2 + 3 = 1 + 2 =9 + 9 + 1 = 19 2 + 2 + 1 = 5 1 + 1 + 1 = 318 + 1 = 19 4 + 1 = 5 2 + 1 = 36 + 7 = 5 + 6 = 3 + 4 =6 + 6 + 1 = 13 5 + 5 + 1 = 11 3 + 3 + 1 = 712 + 1 = 13 10 + 1 = 11 6 + 1 = 72 + 3 = 8 + 9 = 9 + 10 =2 + 2 + 1 = 5 8 + 8 + 1 = 17 9 + 9 + 1 = 194 + 1 = 5 16 + 1 = 17 18 + 1 = 191 + 2 = 9 + 10 = 2 + 3 =1 + 1 + 1 = 3 9 + 9 + 1 = 19 2 + 2 + 1 = 52 + 1 = 3 18 + 1 = 19 4 + 1 = 50 + 1 = 0 + 1 = 5 + 6 =0 + 0 + 1 = 1 0 + 0 + 1 = 1 5 + 5 + 1 = 110 + 1 = 1 0 + 1 = 1 10 + 1 = 117 + 8 = 4 + 5 = 0 + 1 =7 + 7 + 1 = 15 4 + 4 + 1 = 9 0 + 0 + 1 = 114 + 1 = 15 8 + 1 = 9 0 + 1 = 13 + 4 = 7 + 8 = 4 + 5 =3 + 3 + 1 = 7 7 + 7 + 1 = 15 4 + 4 + 1 = 96 + 1 = 7 14 + 1 = 15 8 + 1 = 98 + 9 = 3 + 4 = 6 + 7 =8 + 8 + 1 = 17 3 + 3 + 1 = 7 6 + 6 + 1 = 1316 + 1 = 17 6 + 1 = 7 12 + 1 = 134 + 5 = 6 + 7 = 8 + 9 =4 + 4 + 1 = 9 6 + 6 + 1 = 13 8 + 8 + 1 = 178 + 1 = 9 12 + 1 = 13 16 + 1 = 17Math-Drills.Com


